



ISSN: 0975-833X

Available online at <http://www.journalcra.com>

International Journal of Current Research  
Vol. 12, Issue, 06, pp.11873-11875, June, 2020

DOI: <https://doi.org/10.24941/ijcr.38894.06.2020>

INTERNATIONAL JOURNAL  
OF CURRENT RESEARCH

## REVIEW ARTICLE

### MULTIPLIERS IN BIPOLAR-VALUED FUZZY $d$ -ALGEBRA

\*Preveena Subbian, S.

Assistant Professor, Department of Mathematics, Sri Vidhya College of Arts and Science, Virudhunagar-626001

#### ARTICLE INFO

##### Article History:

Received 10<sup>th</sup> March, 2020  
Received in revised form  
19<sup>th</sup> April, 2020  
Accepted 27<sup>th</sup> May, 2020  
Published online 29<sup>th</sup> June, 2020

#### ABSTRACT

In this paper, I introduce the concept of a multipliers on bipolar-valued fuzzy  $d$ -algebra and obtain some properties and results on it.

##### Key Words:

$d$ -Algebra, Bipolar-Valued Fuzzy  $d$ -Algebra, Multipliers on Bipolar-Valued  $d$ -algebra, Commutative and Positive Implicative on Bipolar-Valued fuzzy  $d$ -Algebra.

Copyright © 2020, Preveena Subbian. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Citation: Preveena Subbian, S. . 2020. "Assessment Multipliers in Bipolar-valued Fuzzy  $d$ -Algebra", *International Journal of Current Research*, 12, (06), 11873-11875.

#### INTRODUCTION

The notion of  $d$ -algebras, another generalization of class of algebras, were introduced Neggers and Kim [Imai, 1966]. They studied some properties of this class of algebras. The study of multipliers has been made by various researchers in the context of rings and groups. They have studied the properties of multipliers. But the properties of multipliers on bipolar-valued fuzzy  $d$ -algebra an important class of fuzzy  $d$ -algebras containing the class  $BCK$ -algebras. So with this motivation in this paper I introduce the concept of a multipliers on a bipolar-valued fuzzy  $d$ -algebras and discuss some results of multipliers on bipolar-valued fuzzy  $d$ -algebras.

**Preliminaries:** In this section we describe some definitions and notions that will be used in the sequel.

**Definition 2.1** [Akram, 2005] Let  $X$  be a set with binary operation  $*$  and a constant  $0$ . Then  $(X, *, 0)$  is called a  $BCK$ -algebra if it satisfies the following axioms

- 1)  $((x * y) * (x * z)) * (z * y) = 0$
- 2)  $(x * (x * y)) * y = 0$
- 3)  $x * x = 0$
- 4)  $0 * x = 0$
- 5)  $x * y = 0$  and  $y * x = 0$  imply  $x = y$  for all  $x, y, z \in X$ .

**Definition 2.2** [Joseph Neggers, 1999] A  $d$ -algebra is a non-empty set  $X$  with a constant  $0$  and a binary operation  $*$  satisfying the following axioms

- 1)  $x * x = 0$
- 2)  $0 * x = 0$
- 3)  $x * y = 0$  and  $y * x = 0$  imply  $x = y$  for all  $x, y \in X$ .

**Example 2.3** [8] Let  $X = \{0,1,2\}$  be a set with the following table

*	0	1	2
0	0	0	0
1	2	0	2
2	1	1	0

Then  $(X, *, 0)$  is a  $d$ -algebra.

**Remark 2.4** It is obvious from above definitions that every  $BCK$ -algebra is a  $d$ -algebra. The following shows that converse is not true, in general.

**Example 2.5** [9] Let  $X = \{0,1,2,3\}$  with the binary operation  $*$  defined by

*	0	1	2	3
0	0	0	0	0
1	1	0	0	0
2	2	2	0	0
3	3	3	1	0

Then  $X$  is a  $d$ -algebra, but it is not  $BCK$ -algebra this is because condition (2) of definition (2.1) is not satisfied as shown

\*Corresponding author: Preveena Subbian, S., Assistant Professor, Department of Mathematics, Sri Vidhya College of Arts and Science, Virudhunagar-626001.

$$(3 * (3 * 2)) * 2 = (3 * 1) * 2 = 3 * 2 = 1 \neq 0$$

**Definition 2.6** Let  $S$  be a non-empty subset of a  $d$ -algebra  $X$ , then  $S$  is called a subalgebra of  $X$  if  $x * y \in S \forall x, y \in S$ . Definition 2.7 Let  $X$  be a  $d$ -algebra and  $I$  a subset of  $X$ , then  $I$  is called an ideal of  $X$  if it satisfies the following conditions

- 1)  $0 \in I$
- 2)  $x * y \in I$  and  $y \in I$  imply  $x \in I$ .

**Definition 2.8** Let  $X$  be a  $d$ -algebra and  $I$  a nonempty subset of  $X$ , then  $I$  is called a  $d$ -ideal of  $X$  if it satisfies the following conditions

- 1)  $x * y \in I$  and  $y \in I$  imply  $x \in I$
- 2)  $x \in I$  and  $y \in X$  imply  $x * y \in I$
- 3)  $0 \in I$ .

**Example 2.9** Let  $X = \{0, a, b, c, d\}$  be a  $d$ -algebra with the following cayley table

$*$	0	a	b	c	d
0	0	0	0	0	0
a	a	0	a	0	a
b	b	b	0	c	c
c	c	c	a	0	c
d	c	c	a	a	0

Let  $I = \{0, a, c\}$  be a subset of  $X$ , then  $I$  is a  $d$ -ideal of  $X$ .

**Main Results**

**Definition 3.1** Let  $X$  be a  $d$ -algebra and let  $(f^+, f^-)$  be a bipolar-valued fuzzy sets on  $X$ . A self map  $f^+: X \rightarrow X$  and  $f^-: X \rightarrow X$  satisfying the condition  $f^+(x * y) = f^+(x) * y, f^-(x * y) = x * f^-(y)$ , for all  $x, y \in X$ , is called a multipliers on bipolar valued fuzzy  $d$ -algebra on  $X$ .

**Example 3.2** Let  $X = \{0, a, b\}$  with the binary operation  $*$  defined by

$*$	0	a	b	$*$	0	-a	-b
0	0	0	0	0	0	0	0
a	a	0	0	-a	-a	0	0
b	b	a	0	-b	-b	-a	0

Then  $X$  is a  $d$ -algebra. Let  $f^+: X \rightarrow X$  and  $f^-: X \rightarrow X$  be defined by

$$f^+(x) = \begin{cases} 0 & \text{if } x = 0, a \\ a & \text{if } x = b \end{cases}$$

$$f^-(x) = \begin{cases} 0 & \text{if } x = 0, -a \\ -a & \text{if } x = -b \end{cases}$$

Then  $(f^+, f^-)$  is a multipliers on bipolar-valued fuzzy  $d$ -algebra on  $X$ .

**Proposition 3.3** Let  $X$  be a  $d$ -algebra and  $(f^+, f^-)$  is a multipliers on bipolar-valued fuzzy  $d$ -algebra on  $X$ , then

- 1)  $f^+(0) = 0, f^-(0) = 0$ .
- 2)  $f^+(x) \leq x, f^-(x) \geq x \forall x \in X$ .
- 3) If  $x \leq y$  then  $f^+(x) \leq y \forall x, y \in X$  and  $f^-(y) \geq x$ .

**Proof:** Let  $X$  be a  $d$ -algebra and let  $(f^+, f^-)$  multipliers on bipolar-valued fuzzy  $d$ -algebra on  $X$ , then we have  $f^+(x * y) = f^+(x) * y$  and  $f^-(x * y) = x * f^-(y)$  To prove, (1) Let  $x = 0, y = 0, f^+(x * y) = f^+(0 * 0) = f^+(0) * 0 = 0 * 0 = 0$ . Therefore  $f^+(0) = 0$  and  $f^-(x * y) = x * f^-(y) \Rightarrow f^-(0 * 0) = 0 * f^-(0) = 0 * 0 = 0$ .

Therefore  $f^-(0) = 0$ . Hence prove the (1)

To prove (2) Let  $x \in X$ , then by (1) we have  $0 = f^+(0) = f^+(x * x) = f^+(x) * x$  so  $f^+(x) \leq x$ . Also  $f^-(0) = 0 \Rightarrow f^-(x * x) = 0 = x * f^-(x) \Rightarrow x \leq f^-(x)$  so  $f^-(x) \geq x$ . hence prove (2).

To prove (3) Let  $x, y \in X, x \leq y$ . Then  $x * y = 0$  by (1) we have  $0 = f^+(0) = f^+(x * y) = f^+(x) * y$ . Thus  $f^+(x) \leq y$ . and we also have by (1)  $0 = f^-(0) = f^-(x * y) = x * f^-(y)$ . Thus  $x \leq f^-(y) \Rightarrow f^-(y) \geq x$ . Hence proves the (3).

**Proposition 3.4** Let  $(f^+, g^+)$  and  $(f^-, g^-)$  be a multipliers on bipolar-valued fuzzy  $d$ -algebra on  $X$ . Then their composition  $(f^+ \circ g^+), (f^- \circ g^-)$  is a multipliers on bipolar-valued fuzzy  $d$ -algebra on  $X$ . Proof: Let  $X$  be a  $d$ -algebra, let  $(f^+, g^+), (f^-, g^-)$  be multipliers on bipolar-valued fuzzy  $d$ -algebra on  $X$ . Let  $x, y \in X$ . Then

$$\begin{aligned} (f^+ \circ g^+)(x * y) &= f^+(g^+(x * y)) \\ &= f^+(g^+(x) * y) \\ &= f^+(g^+(x)) * y \\ &= (f^+ \circ g^+)(x) * y \end{aligned}$$

Similarly, we can prove that

$$(f^- \circ g^-)(x * y) = x * (f^- \circ g^-)(y).$$

**Definition 3.5** A  $d$ -algebra  $X$  is said to be positive implicative if  $(x * y) * z = (x * z) * (y * z)$ . for all  $x, y, z \in X$ .

**Definition 3.6** Let  $M(X)$  denotes the collection of all multipliers on  $X$ . Obviously  $O: X \rightarrow X$  defined by  $O(x) = 0$  for all  $x \in X$  and  $I: X \rightarrow X$  defined by  $I(x) = x$  for all  $x \in X$  are in  $M(X)$ . So  $M(X)$  is nonempty.

**Definition 3.7** Let  $X$  be a positive implicative  $d$ -algebra and  $M(X)$  be the collection of all multipliers on  $X$  we define a binary operation  $*$  on  $M(X)$  by

$$(f^+ * g^+)(x) = f^+(x) * g^+(x), \text{ For all } x \in X \text{ and } f^+, g^+ \in M(X).$$

$$(f^- * g^-)(x) = f^-(x) * g^-(x), \text{ For all } x \in X \text{ and } f^-, g^- \in M(X).$$

**Theorem 3.6** Let  $X$  be a positive implicative on  $d$ -algebra. Then  $(M(X), *, 0)$  is a positive implicative bipolar-valued fuzzy  $d$ -algebra.

**Proposition 3.7** Let  $X$  be a  $d$ -algebra and  $(f^+, f^-)$  a multipliers on  $X$ . If  $(f^+, f^-)$  is one-to-one. Then  $(f^+, f^-)$  is the identity map on  $X$ .

**Proof:** Let  $f^+$  be one-to-one. Let  $x \in X$  then  $f^+(x * f^+(x)) = f^+(x) * f^+(x) = 0 = f^+(0)$ . Thus  $x * f^+(x) = 0 \Rightarrow x \leq f^+(x)$ . Since  $f^+(x) \leq x$ , by proposition 3.3(2) for all  $x$ , therefore  $f^+(x) = x$ . hence  $f^+$  is the identity map.

Similarly, let  $f^-$  be one-to-one let  $x \in X$ . Then  $f^-(x * f^-(x)) = f^-(x) * f^-(x) = 0 = f^-(0)$ . Thus  $x * f^-(x) = 0 \Rightarrow x \geq f^-(x)$ . Since  $f^-(x) \geq x$ , by proposition 3.3(2) for all  $x$ , therefore  $f^-(x) = x$ . Hence  $f^-$  is the identity map.

**Definition 3.8** Let  $(f^+, f^-)$  be a multipliers on  $X$ . We define  $\text{Ker}(f^+)$  by  $\text{ker}(f^+) = \{x: x \in X \text{ and } f^+(x) = 0\}$ , and  $\text{ker}(f^-) = \{x: x \in X \text{ and } f^-(x) = 0\}$

**Proposition 3.9** Let  $X$  be a  $d$ -algebra and  $(f^+, f^-)$  be a bipolar-valued fuzzy  $d$ -algebra is a multipliers on  $X$ . Then (1)  $\text{Ker}(f^+)$  and  $\text{Ker}(f^-)$  is a sub algebra of  $X$  and (2) If  $(f^+, f^-)$  is one-to-one then  $\text{Ker}(f^+) = \text{ker}(f^-) = \{0\}$ .

**Proof:** (1) Let  $x, y \in \text{ker}(f^+)$ . Then  $f^+(x) = 0$  and  $f^+(y) = 0$  so  $f^+(x * y) = f^+(x) * y = 0 * y = 0$ . Then  $x * y \in \text{ker}(f^+)$  which implies  $\text{ker}(f^+)$  is sub algebra of  $X$ .  $f^-(x) = 0, f^-(y) = 0$  so  $f^-(x * y) = x * f^-(y) = x * 0 = 0$ . Thus  $x * y \in \text{ker}(f^-)$  which implies that  $\text{ker}(f^-)$  is a sub algebra of  $X$ .

(2) Let  $f$  be one-to-one. Let  $x \in \text{ker}(f^+)$ . so  $f^+(x) = 0 = f^+(0)$ . Thus  $x = 0$ . so  $\text{ker}(f^+) = \{0\}$ . Also we can prove  $\text{ker}(f^-) = \{0\}$ .

**Definition 3.10** A  $d$ -algebra  $X$  is called commutative if  $x * (x * y) = y * (y * x)$  for all  $x, y \in X$ .

**Proposition 3.11** Let  $X$  be a commutative  $d$ -algebra satisfying  $x = 0 = x, x \in X$ . Let bipolar-valued fuzzy  $d$ -algebra  $(f^+, f^-)$  be a multipliers on  $X$ . If  $x \in \text{ker}(f^+)$ , if  $y \leq x$ , then  $y \in \text{ker}(f^+)$  and if  $x \in \text{ker}(f^-)$ ,  $y \geq x$ , then  $y \in \text{ker}(f^-)$ .

**Proof:** Let  $x \in \text{ker}(f^+)$  and  $y \leq x$ . Then  $f^+(x) = 0$  and  $y * x = 0$ . Now  $f^+(y) = f^+(y * 0) = f^+(y * (y * x)) = f^+(x * (x * y)) = f^+(x) * (x * y) = 0 * (x * y) = 0$ . So  $y \in \text{ker}(f^+)$ .

Also, Let  $x \in \text{ker}(f^-)$ ,  $y \geq x$ . Then  $f^-(x) = 0, y * x = 0$ . Now  $f^-(y) = f^-(y * 0) = f^-(y * (y * x)) = f^-(x * (x * y)) = f^-(x) * (x * y) = 0 * (x * y) = 0$ . So  $y \in \text{ker}(f^-)$ .

**Theorem 3.12** Let  $X$  be a  $d$ -algebra satisfying  $x = 0 = x$  for all  $x \in X$ . Let bipolar-valued  $d$ -algebra  $(f^+, f^-)$  be a multipliers on  $X$ , which is also an endomorphism on  $X$ . Then  $\text{Ker}(f^+)$  and  $\text{Ker}(f^-)$  is a  $d$ -ideal of  $X$ .

**Proof:** Let  $x * y \in \text{ker}(f^+)$ ,  $y \in \text{ker}(f^+)$ . Then  $f^+(y) = 0$ . Also  $f^+(x * y) = 0$ , which implies that  $0 = f^+(x) * f^+(y) = f^+(x) * 0 = f^+(x)$ . Thus  $x \in \text{ker}(f^+)$ . Let  $x \in \text{ker}(f^+)$  and  $y \in X$ . Then

$$f^+(x * y) = f^+(x) * y = 0 * y = 0.$$

So  $x * y \in \text{ker}(f^+)$ . Hence  $\text{Ker}(f^+)$  is a  $d$ -ideal of  $X$ .

Similarly, Let  $x * y \in \text{ker}(f^-)$ ,  $y \in \text{ker}(f^-)$ . Then  $f^-(y) = 0$  and  $f^-(x * y) = 0$ , which implies that  $0 = f^-(x) * f^-(y) = f^-(x) * 0 = f^-(x)$ . Thus  $x \in \text{ker}(f^-)$ . Let  $x \in \text{ker}(f^-)$  and  $y \in X$ . Then  $f^-(x * y) = x * f^-(y) = x * 0 = 0$ . So  $x * y \in \text{ker}(f^-)$ . Hence  $\text{Ker}(f^-)$  is a  $d$ -ideal of  $X$ .

**Definition 3.13** Let  $X$  be a  $d$ -algebra and bipolar-valued fuzzy  $d$ -algebra  $(f^+, f^-)$  is a multipliers on  $X$ . Then the set

$$\text{Fix}(f^+) = \{x: x \in X \text{ and } f^+(x) = x\}.$$

$\text{Fix}(f^-) = \{x: x \in X \text{ and } f^-(x) = x\}$ . is called the set of fixed points of  $(f^+, f^-)$ .

**Proposition 3.14** Let  $X$  be a  $d$ -algebra and bipolar-valued  $d$ -algebra  $(f^+, f^-)$  a multipliers on  $X$ . Then  $\text{Fix}(f^+)$  and  $\text{Fix}(f^-)$  is a sub algebras of  $X$ .

**Proof:** Since  $f^+(0) = 0, f^-(0) = 0$ , so  $\text{Fix}(f^+)$  and  $\text{Fix}(f^-)$  is non-empty. Let  $x, y \in \text{Fix}(f^+)$ . Then  $f^+(x) = x, f^+(y) = y$ . Thus  $f^+(x * y) = f^+(x) * y = x * y$ . So  $x * y \in \text{Fix}(f^+)$ . Hence  $\text{Fix}(f^+)$  is a Sub algebra of  $X$ . Also Let  $x, y \in \text{Fix}(f^-)$ . Then  $f^-(x) = x, f^-(y) = y$ . Thus  $f^-(x * y) = x * f^-(y) = x * y$ . So  $x * y \in \text{Fix}(f^-)$ . Hence  $\text{Fix}(f^-)$  is a sub algebra of  $X$ .

## Conclusion

We have initiated a study of multipliers on bipolar-valued fuzzy  $d$ -algebras. I have shown that the collection  $M(X)$  of multipliers on a bipolar-valued fuzzy  $d$ -algebra. We have also investigate the conditions under which  $\text{Ker}(f^+)$  and  $\text{Ker}(f^-)$  of a multipliers  $(f^+, f^-) \in M(X)$  is an ideal.

## REFERENCES

- Akram M. and Dar; K.M. 2005. On fuzzy  $d$ -algebras, Punjab university Journal of Mathematic vol 37 61-76.
- Arsham Borumand sacid, Bipolar-valued Fuzzy  $BCK/BCI$ -algebras, world Applied Sciences Journal 7(11): 1404-1411,2009.
- Chaudhry, M.A. 1991. On  $BCH$ -algebras. Math.Japan, 36(4):665-676.
- Dudek, W.A and J. Thomys, 1990. On decomposition of  $BCH$ -algebras. Math. Japan, 35(6):1131-1138.
- Imai, Y and K. Iseki, 1966. On axiom systems of propositional calculi. XIV, Proc. Japan Acad. Ser A, Math. Sci., 42:19-22.
- Iseki, K. and S. Tanaka, 1978. An introduction to theory of  $BCK$ -algebras. Math. Japo., 23:1-26.
- Iseki, K., 1966. An algebra related with a propositional calculi. Proc. Japan Acad. Ser A, Math. Sci., 42:26-29.
- Joseph Neggers, Hee Sik Kim, On  $d$ -algebras, Mathematic Slovaca, vol. 49(1999), No.1, 19-26.
- Neggers, J., Jun Y.B. and Kim, H.S. 1999. On  $d$ -ideal in  $d$ -algebras, Math.Slovaca, 49, 243-251